- @ When polygons have the same ;f~in:q«(]_.\.\;; but may be different i m
1 2e  theyarecalled < imilu ‘; polygons.

® Similar polygons always have (', TEXEVE A\ angles and
‘\« poc tong \ - sides.

\
Ex 1 - Determine whether each pair of figures is similar. If they are similar, write .
ppropnate smqﬂanty statement.

b)

e The _{ akio of the lengths of two corresponding sides of
similar polygons is called the 5S¢l ng Lo (

Ex 2 - What is the scale factor of a 9 inch model of the Statue of Liberty and the

actual 305 foot Statue of Liberty?
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Ex 3 - Assume the quadriléteralsbelow are similar. First, write a similarity

statement. Then ﬁnd@gj»‘% and @,{\LJ Finally, find the scale factor of the larger
quadrilateral to the smaller quadrilateral.
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Ex 4 - AMAT ~ ARIX with a scale factor of 3/5. If the lengths of the sides of
AMAT are 24, 36, and 60 yards, what are the lengths of the sides of ARIX?
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| -® When polygaﬂs have the same s%m@ 5 but may be dsfferen’t in
| 5;2{:2;» , they are called Sim;hw; _polygons. |

o Similar pcfygar;s aiways have congruent angles and

§ﬁfﬁpéf”%f@mi _ sides. v
B :
Ex 1 - Determine whether each pair of figures is simi lar If they are ssm;far write

ppz‘opnate s;mﬂaniy statement
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1 e The m*}“s@ of the iengths of two cerrespand ng sides cf "
samfiar polygans is cal Ied the _ ,;;(.(C{}{:?w . fw“f“{;f“ ‘

__x_g What is the scale factor of a 9 mch modei of the Statue sf L:berty and the
actua 305 foot Statue @beerty? - i
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E Assume the quadr laterais beﬁow are similar. First, write s:mlfar:ty

: sta%ement Then find x, y, and GN. Finall ly, find the soale fac:tor of the !arger
quadr lateral io the sma ler quadril atsrai
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5____ AMAT éRIX w th a scaie faciar of 3/5 [f’thé fer}gths of the sides of :

- AMAT are 24 36 and 8 yards, what are the lengths of the sides of ARIX?
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